evalf (sqrt(5) )

2.236067977 4))
4
f= X -sqrt(9 — xz)
49—
fimxm A @
3
S(sqrt(5))
8
3 &)
Jp=D(f)
4-x
pp=xe s “)
39—
Jp(sqrt(5))
54
EE o
simplify( %)
25
245 ©
with(plots) :
2 2
myellipse = implicitplot[ o + )1;_6 =1,x=-4.4,y=-5.5, thickness =2, scaling = constrained)

mypoint := pointplot([ [sqrt(5), f(sqrt(5)) 1], symbol = solidcircle, symbolsize=10)



3.59

2.5+

1.5 2 2.5 3
2-sqrt(5)
3

8
mytanline := x— - “(x —sqrt(5)) + 3

2:yS5S-\x—45 8
mytanline == x — - \/_ (;C \/—) + 3 @)
tanplot := plot(mytanline(x), x =-4..4)
44
2-
-4 -3 2 -1 1 2 3 4

display ([ mypoint, myellipse, tanplot|)



mytan = x=fp(sqrt(5) ) (x — sqrt(5)) + f(sqrt(5))

mytan = fp([5)- (= y5) +1(JF)

mytan(x)
AL L8
3 3
simplify( %)
2 \/?x
6 —
3
mytanline(x)
25 (x=y5) 8
- + J—
3 3
simplify( %)
2 \/?x
6 —
3
2.6 #30 from textbook:
2 2
myeqn = X3 —I—y3 =1
myeqn :=le3+y2/3=1

myplot := implicitplot(myegn, x =-10 ..10, y =-10..10, scaling = constrained)

®

®

(10)

an

(12)

(1.1)
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